
Page 84

Part # Fig.# Mirror Size Description
West Coast
603862    1 7” x 16” Retractable Stainless Steel Assembly

Universal
604614    2 5” x 8” Custom Ford Swing-Away Design
611500    3 7 1/2” x 10 1/2” Stainless Steel Brackets w/ 12”
Pivot

MIRRORS

Part # Fig.# Mirror Size Description
Standard
600604    4 6” x 16” Brushed Aluminum Finish
600932    4 6” x 16” Bright Anodized Aluminum
610321    5 6” x 16” OEM Style Aluminum
600807    5 7” x 16” OEM Style Polished Stainless Steel
601272    5 7” x 16” OEM Style Polished Stainless Steel
610226    6 7” x 16” OEM Style Polished Stainless Steel

Heated
601285    5 7” x 16” OEM Style Polished Stainless Steel

Heated and Motorized
607004    7 7” x 16” OEM Style Polished Stainless Steel

Mirror Has Horizontal and Vertical Adj.
Light Duty
604768    8 6” x 9” Stainless Steel OEM Replacement
610815    9 6 1/2” x 6” Stainless Steel w/ Convex Mirror
610829    10 6 1/2” x 10” Stainless Steel w/ Flat Mirror
610809          11        7 1/2” x 10 1/2” Bright Anodized Aluminum
611600    12        7 1/2” x 10 1/2” Polished Stainless Steel Head w/Arm

Mirror Heads

Fig. 1
Fig. 2

Fig. 3

Fig. 4

Fig. 6

Fig. 7
Fig. 8

Fig. 9
Fig. 10

Fig. 5

Fig. 12
 Fig. 11

Spot Mirrors

Part # Fig.# Mirror Size Description
604770    13 4” x 5 1/2” Stick-On Rectangular Convex
604771    14 2” Stick-On Round Convex
604772    14 3” Stick-On Round Convex
604773    14 3 3/4” Stick-On Round Convex

Fig. 13
Fig. 14

Mirror Assemblies



Page 85

Part # Fig.# Description
Bracket Only
608100   6 Polished Stainless Steel Horizontal Mount Cross-View
608135   7 Polished Stainless Steel Vertical Mount Cross-View
Mirror Assembly
610775   8 8” Bubble Mirror For Safety Cross-View Assemblies

Fig. 1
Fig. 2

MIRRORS

Convex Mirrors

Part # Fig.# Size Stud Mnt. Description
610148    1 5” Center Polished Stainless Steel
610456    2 5 1/2” x 7 1/2” Center Rectangular Anodized Aluminum
 610191    1 6” Center Polished Stainless Steel
610193    1 6” Center Polished Stainless Steel w/ “J” Brkt.
610406    3 6” Center Steel Coated Black
604976    1 7 1/2” Center Polished Stainless Steel
609838    5 7 1/2” Offset Polished Stainless Steel w/ “J” Brkt.
604898    1 8” Center Polished Stainless Steel
610551    4 8” Offset Polished Stainless Steel
610673    1 8” Center Polished Stainless Steel w/ “J” Brkt.
610556   --- 8” Offset Polished Stainless Steel, Heated
609898    5 8 1/2” Offset Polished Stainless Steel w/ “J” Brkt.
609946    5 8 1/2” Offset Polished Stainless Steel, Heated
604947   --- 12” Center Black Plastic Back

Fig. 5

Safety Assemblies

Fig. 3 Fig. 4

Mirror Accessories

Part # Fig.# Description
601690   9 3” Stainless Steel Extension
605755   10 Mounting Arm
607962   11 2-Piece Clamp 3/4” O.D.
607969   12 J-Bracket
608351   13 4” Stainless Steel Bracket
608359   13 6” Stainless Steel Bracket

101181  --- 5 1/2” x 14 1/2” Heater Pad

Fig. 6 Fig. 7

Fig. 8

Fig. 13

Fig. 12

Fig. 11

Fig. 9 Fig. 10



Page 86

TRUCK SEATING

Air Suspension Seating

Part # Fig.# Color / Material Description
T915 Series
2339130-550   2 Black / Cloth Mid Back Seat (No Armrest)
2339130-552   2 Gray / Cloth Mid Back Seat (No Armrest)
2339199-550   2 Black / Cloth Mid Back Seat w/ Air Lumbar (No Armrest)

Bostrom T915 air suspension seats offer 6” of ride zone
and 9.5” of fore and aft adjustment.

T910
2343070-550   3 Black / Cloth Mid Back Seat (No Armrest)
2343070-552   3 Gray / Cloth Mid Back Seat (No Armrest)

Bostrom T910 air suspension seats offer 3.8” of ride zone,
9.5” of fore and aft adjustment and a mechanical lumbar support.

T910SC
2348005-550   4 Black / Cloth Low Profile Mid Back Seat (No Armrest)
2348005-552   4 Gray / Cloth Low Profile Mid Back Seat (No Armrest)
2348014-418   4 Gray / Cordura Low Profile Mid Back w/ Dual Armrest

and Driver Swivel
Bostrom T910SC air suspension seats offer 3.8” of ride zone

and 9.5” of fore and aft adjustment. Also includes 12V self
contained air compressor for vehicle without air supply.

Part # Fig.# Color / Material Description
0042764-001   1 Black / Vinyl Low Back w/ Riser (No Armrest)
0108188-001   1 Black / Vinyl Low Back Heavy Duty w/ Armrest

Viking T-Bar seats offer a low-profile design and a 4” ride zone.

Armrests
Part # Fig.# Color / Material Description
1234231-544   - - Black / Vinyl Left or Right Armrest
1234231-550   - - Black / Cloth Left or Right Armrest
1234231-552   - - Gray / Cloth Left or Right Armrest

Viking T-Bar Seating

Fig. 1

Fig. 2

Fig. 3

Fig. 4



Page 87

WIPER BLADES

Part # Description  Length
717-20 20 Goodyear, HD 20”
717-22 22 Goodyear, HD 22”
717-24 24 Goodyear, HD 24”
717-26 26 Goodyear, HD 26”
717-28 28 Goodyear, HD 28”
717-32 32 Goodyear, HD 32”
718-32 32 Goodyear, HD 32”
718-36 36 Goodyear, HD 36”
718-37 36 Goodyear, HD 36”
718-40 40 Goodyear, HD 40”
718-41 40 Goodyear, HD 40”

Wiper Blades - Heavy Duty

Part # Description  Length
728-11 11 Goodyear 11”
728-12 12 Goodyear 12”
728-13 13 Goodyear 13”
728-14 14 Goodyear 14”
728-15 15 Goodyear 15”
728-16 16 Goodyear 16”
728-17 17 Goodyear 17”
728-18 18 Goodyear 18”
728-19 19 Goodyear 19”
728-20 20 Goodyear 20”
728-21 21 Goodyear 21”
728-22 22 Goodyear 22”
728-24 24 Goodyear 24”
728-26 26 Goodyear 26”
728-28 28 Goodyear 28”

Wiper Blades - Premium

Aquapel
Part # Fig.# Description
AQ47100    1 Rain Repellent, Single Application
AQ98994    1 Rain Repellent, 24 Pack

TTW-148   --- Windshield Wash Premix Fig. 1



Page 88

Fig. 3

Fig. 5

Fig. 8

Fig. 4

Fig. 6

Fig. 2

Fig. 7

Fig. 1

EXHAUST

Aluminized Elbows

Clamps

Part # Fig.# Dia.(ID/OD) A -Length B-Length R-Radius
45° Elbow
89780A    3 4” 6.5” --- 6”
89781A    3 5” 7.28” --- 5.5”

90° Elbow
89105A    4 4” 10” 10” 6”
89106A    4 4” 18” 18” 6”
89107A    4 5” 15” 15” 8”
89784A    4 5” 10” 10” 8”
89924A    4 5” 8.5” 8.5” 5.5”

Part # Fig.# Dia. Description
Flexible
W49029    1 3.5” I.D. Galvanized
W40011    1 4” I.D Galvanized
W40012    1 5” I.D. Galvanized

W49034    1 4” I.D. Stainless Steel
W40023    1 5” I.D. Stainless Steel

Straight
W49011    2 3.5” O.D. Non-Bendable
W49012    2 4” O.D. Non-Bendable
W49015    2 5” O.D. Non-Bendable

Easy-Seal Flat Band Guillotine Torc-Tite
Diameter Fig.# 5 Fig.# 6 Fig.# 7 Fig.# 8
3.5” 89526K 89557K 89547K 90355A
4” 89527K 89558K 89548K 90356A
5” 89528K 89559K 89549K 90358A

Tubing (Sold Per Foot)



Page 89

 ABSORBENTS

Spill Kits

Part # Fig.# Description
SP20    1 Economy Kit, Oil Only
SP2U    1 Economy Kit, Universal

Contains: 10 Pads, 3 Socks (3” x 48”), 1 Disposal Bag, Zip
Tie, 1 Pair Nitrile Gloves & Instruction Sheet

KT-50    2 5 Gal. Bucket, Oil Only
KT-5U    2 5 Gal. Bucket, Universal

Contains: 10 Pads, 2 Socks (3” x 48”), 5 lbs. Ultrasorb,
Disposal Bag, Zip Tie, 1 Pair Nitrile Gloves &
Instruction Sheet

WPF100H-BX    3 Heavy-Duty Pads, Oil Only, 100/Box
GPF100H-BX    3 Heavy-Duty Pads, Universal, 100/Box
WP100S   --- Economy, Oil Only, 100/Bag

FD85    4 25lb. Floor Dry

Fig. 1

Fig. 3 Fig. 4

Fig. 2

Filters

Heavy Duty Filtration For Lube, Fuel, Coolant and
Hydraulic Systems.

All Popular Applications In Stock!



Page 90

Fig. 1

Fig. 4

Fig. 7 Fig. 8

Fig. 5

Fig. 6

Fig. 9

Fig. 3

WARNING PRODUCTS

Back-Up Alarms

Rotating Minibar

Rotating Beacons

Part # Fig.# Voltage FPM Description
5135A    3 12 480 15” Low Profile w/ Permanent Mount
5135A-VM    4 12 480 15” Low Profile w/ Magnet Mount
5188CA 12 15” w/ Permanent Mount
5315A    5 12 300 15” w/ Permanent Mount
5315A-VM    6 12 300 15” w/ Vacuum Magnet Mount

Part # Fig.# Voltage dB Description
505    1 12-24 87 Compact Size and Self Grounding
510    1 12 97 Sealed For Dust Protection
520    1 12-24 97 Compact Size and Self Grounding
530    1 12-24 102 Sealed For Dust Protection
575    1 12-24 107 Compact Size and Self Grounding

Smart Alarms
SA-901    2 12-24 82-107 Self Adjusting
SA-917    2 12-24 87-112 Self Adjusting with Steel Housing

Part # Fig. # Voltage FPM Description
5715A    7 12 100 3-Bolt Mount Rotating Beacon
5813A    8 12 160 3-Bolt Mount Rotating Beacon
5813A-MG    9 12 160 Magnet Mount Beacon

A = Amber          FPM = Flashes Per Minute

Flashing Minibar
Part # Fig.# Voltage      FPM Description
5188CA 12 15” Low Profile w/ Permanent Mnt.

LED Directional Lights
 Part # Fig. # Voltage FPM Description
 3710A 12 S/D/Q/Q Surface Mount

                3810A 12 Q Surface Mount
                3860A 12 Q Surface Mount

Fig. 2



Page 91

A = Amber         D/Q = Double or Quad Flash           FPM = Flashes Per Minute
Other Lens Colors Available

Strobe Beacons

WARNING PRODUCTS

Lighting Accessories
Part # Fig.# Description
R5012BH    6 12-Volt Bulb for 5315/5700 Series
R5812BH    7 12-Volt Bulb for 5135/5800 Series
R6200FT    8 Flashtube for 6200 Series
R6410FT    9 Flashtube for 6400 Series
R6501FT   10 Flashtube for 6500/6600/6700 Series
R6600FT   --- Flashtube for 6600/6800 Series
A6600MK   11 Magnet Mount Kit
SW15   --- Universal Mechanical Switch

Part # Fig.# Voltage FPM Description
6220A    1 12-80 85 2-Bolt Low Intensity Industrial Strobe
6400A    2 12-80 70 Low Profile w/ 3-Bolt Flange Mount
6410A    2 12-80 70 Low Profile w/ 3-Bolt Flange Mount
6410A-MG    3 12-80 70 Low Profile w/ Magnet Mount
6520A   --- 12-48 80 Low Profile w/ 2-Bolt Flange Mount
6550A    4 12-48 D/Q Low Profile w/ 3-Bolt or 1” Pipe Mount
6570A   --- 12-48 D/Q Med. Profile w/ 2-Bolt Flange Mount
7960A   --- 12-24 Low Profile w/ Hi/Lo Intensity Control

Switchable Intensity Strobes
6650A    4 12-24 D/Q Low Profile w/ 3-Bolt or 1” Pipe Mount
6670A    5 12-24 D/Q Med. Profile w/ 3-Bolt or 1” Pipe Mount
6970A   --- 12-24 D/Q Med. Profile w/ 3-Bolt or 1” Pipe Mount

Severe Vibration Strobes with Aluminum Base
6710A   --- 12-48 D/Q Low Profile w/ 3-Bolt or 1” Pipe Mount
6750A    4 12-24 D/Q Low Profile w/ 3-Bolt or 1” Pipe Mount
6770A    5 12-24 D/Q Med. Profile w/3-Bolt or 1” Pipe Mount

Fig. 1

Fig. 3

Fig. 2

Fig. 4

Fig. 5

Fig. 6 Fig. 7 Fig. 8

Fig. 9 Fig. 10

Fig. 11


